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MRE FRTE
(1) ACK 4k Z BN A0 ATP A 2 BEBE R A1 ADP, (2) AR M {1k, ADP #1 PEP 4= % ATP Al A EH R,
(3) FLER M A B AL B ER Al NADH 2B i FLER Al NAD', (4) £ 340nm Il NADH %464 i NAD #
R, BT ACK i1 .

mEEMEENR .
LN BERR A GOl AR, RS . PR A /96 FLA. WFER. DRI
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A FAIZE A AT -

PR Witk 100mLx1 i, 4°CIRAT;
R —: Wik 30mLx1 i, 4°CIRTT;
R WX IR, -20°CIRAT
RA= Wik 500w Lx1 3, 4CHRAT;
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1. BGOSR SN B R OB N, B0 ETE R R R E A R (1004 $RHL
AR (mL) J¥ 500~1000: 1 B9ELBI CEIL 500 740 BB IIN ImL $EEGH0O, 88 75 Ik Al A 4 B B4t i
(UK, T2 20% 5 200W, 875 3s, A% 10s, HA 30 K); 15000g 4°C &0 10min, I L3, BUK Efr
e

2. AR HEHAFRE () REGEF(mL) N 1: 5~10 ELE] CEIRENZ 0.1g A2, I ImL $2H
D, HHATUKIB IS . 15000g 4°C 850> 10min, B E3E, BEUK BRI,

MELER:
1. e BT B AR A T A 30min BA b, RS E 340nm, ZEIBKIAE.
2« FEAE

(1) TAERRIMECE : W RTHGRF — 8, A 10mL XA —H 200 v L {71 =, RMRESHER, BT 37
T (AL 525C (e K Smin; B

(2) {EfE A JELL (B L 96 FLARH NN 20 w L FEARRT 180 L TAEWK, Y21, SERPICSRE 340nm 4b 20s
HIWOBAE A1 A 3min20s J5IWOGIE A2, THE AA=A1-A2.
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(D) AR AR

PRI SE e B mg ZZVER IR FE 1 nmol [¥] NADH & SCH— /MG 77 B pT .

ACK (nmol/min /mg prot) =[AAxV i+ (exd) x10°]+(V FxCpr) +T=536xAA+Cpr

(2) FhEAEEE T

BATIE X A g AL 1 nmol (1 NADH 5 SUN— B /7840
ACK (nmol/min /g #£8) =[AAXV [+ (exd) x1091+(Wx V F+V FER) ~T=536xAA+W

(3) 320 b S0 M % 5 5

FAALIE e A 1 A B B M A 43 B0 AE | nmol 1) NADH & X N —AMHgiE 77 47 .
ACK (nmol/min /104 cell) =[AAXV [+ (exd) x10°]=(500xV #E+V FE &) +T=1.072xAA
V R RNARR ST, 2x104L; &: NADH BRI RS, 6.22x103L/mol /om; d: LA,
lem; VA JOIAFEARMSEIR, 0.02mL; VFES: IARBUBAT, 1mL; T: KMEE, 3min; Cpr: FEA
HEPURE, mg/mL; W: FEABE, g; 500 4EEARA%, 500 /.

b.F 96 FLAR B MITHE AR T

(D) AR AR

PRI SE s B mg ZHSVER VR0 FE 1 nmol [¥] NADH & SCH— /MBS 77 B AT

ACK (nmol/min /mg prot) =[AAxV i+ (exd) x10°]+(V F£xCpr) +T=1072xAA+Cpr

(2) FhEAEEE T

PATIE X A g AL 1 nmol (1 NADH 5 SUN— B /7940

ACK (nmol/min /g #£5) =[AAXV S+ (exd) x10°]1(W xV FE+V FEE) ~T=1072xAA+W

(3) 520 b S0 M % 5 5

AL E X A 1 A B B A 43 B0 AE 1 nmol 1) NADH & X N — Mg 77 407 .

ACK (nmol/min /104 cell) =[AAXV [+ (exd) x109]+(500xV FE+V FER)  +T=2.144xAA

VR RNAR RSB, 2x104 L; e: NADH FE/RVEEFREL, 6.22x10° L/ mol /em; d: 96 FLEROGAE,
0.5cm; VB IIAFEARMAFE, 0.02mL; V FEE: MASRBURAR, 1mL; T: KMNEE, 3min; Cpr: #
AEATKE, mgmL:; W: FERBE, g 500: MRS E, 500 5.




